Sample Question Paper for M.Sc. Mathematics Entrance Test
1. The function F:R-R given by F(x)=(x
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-3x+2) (x+1) is

a) 1-1 but not onto
  
b) onto, but not 1-1

c) Both 1-1 and onto

d) none of these


2. If the series  
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3. The number of elements of order 8 in a cyclic group of order 40 is :

a) 8


b) 5

b) 4

            d) 2
4. The dimension of the subspace W = { 
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R

is
a) 3


b) 2

c)   1


d) 0

5. If    
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 is a convergent series of positive terms, then 
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b) 0
c) Finite non-zero quantity
d) None of these

6. The director circle of the ellipse  
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7. The function 
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 is
a) Discontinues

b) Bounded

c) Analytic


d) Not analytic

8. Let f: C 
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C be an analystic function of z such that Re(f) = 5.  Then  Im(f) is:
a) Zero


b) Constant

c)   Unbounded 

d) None of these

9. The polynomial 
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is  irreducible over R iff :
a) 
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       10. The particular integral of the differential equation 
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      11. The radius of the curvature of the curve 
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d) 
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      12. The perimeter of the cardioids 
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      13. The polynomial 
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10. A particle moves in an ellipse under a central force.  Its time period (with usual notations) is :
a) 
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11. If 
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       d) None of  these
12. Lagranges interpolation polynomial corresponding  to a data having 
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points is a :
a) Unique polynomial of degree 
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b) Unique polynomial of degree  
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c) Unique polynomial of degree 
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d) None of these

13. If 
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is the force of friction, R is the normal pressure and 
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   is the coefficient of friction. 
a) 
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14. The radius of the sphere    
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a) 2



b) 3

c) 4



d) 5
15. The necessary condition for a function  
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c)
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